_ls_

3 HEGEAOERES TR (HETHH1)

(A)
SEBEEE
: 148) e M4
RRES | WEAA ® % R Migan
A EEGREIBE ZOHo Hiats A%
® @ % DEHR BA% EREB EB EEHE (3118)
HEARTH HEARTH 96 68 40 39 1 22 6 28 35
mEM 17 12 6 5 1 4 2 5 2
E4/H 12 7 4 4 0 2 1 5 4
EERAT 1 0 0 0 0 0 0 1 1
HH FO/KET 1 0 0 0 0 0 0 1 0
A ET 2 1 1 1 0 0 0 1 0
FIMET 3 1 1 1 0 0 0 2 0
BREEFTET 36 21 12 11 1 6 3 15 7
L g™ 10 7 3 3 0 3 1 3 1
REERTET 10 7 3 3 0 3 1 3 1
ithm 6 3 3 3 0 0 0 3 1
=¥odis] 7 5 2 2 0 3 0 2 0
4ith KiEHT 3 2 2 2 0 0 0 1 2
58T 4 3 2 2 0 0 1 1 1
RERTET 20 13 9 9 0 3 1 7 4




RN

R E T

(Bl38) B RS

_ZS_

RIERTHA TETH & w % R SE
WERRE RIS 1 Z DD HhEtE- Fiioh s
# #EEF Ak ] g EEM EEE (3148)

Bl R T 4 4 0 1 3 0 0 0

F/INEET 3 2 0 0 1 1 1 0

/NEET 0 0 0 0 0 0 0 0

Bk B 1 1 0 0 1 0 0 0
= FRET 1 1 0 0 1 0 0 0

FpERAS 1 0 0 0 0 0 1 0

AR 1 1 1 0 0 0 0 0

fREEFTET 1 9 1 1 6 1 2 0

{Efin T 2 2 2 0 0 0 0 6

) 2 2 1 0 1 0 0 0

fEnfin AT 5 4 2 0 1 1 1 1
R { HT 0 0 0 0 0 0 0 0

LR T 2 0 0 0 0 0 2 0

R 11 8 5 0 2 1 3 7

Fim 3 1 0 0 1 0 2 1

I FH 13 8 4 0 3 1 5 1
EEL) 2 1 1 0 0 0 1 0

fREEFTE 18 10 5 0 4 1 8 2

I\ 25 14 6 1 6 1 11 0

AN e IKJIET 0 0 0 0 0 0 0 0
{REEFTE 25 14 6 1 6 1 11 0




_88_

RN

R E T

(Bl38) B RS

REEFL | TETHA “w H BRRE
\ RIS Z0H0 Hpap - e
e 0 DEAR BAm SR ERp ERp (3148)

KIgH 6 4 3 3 0 1 0 2 3

KR )=F|d:1] 3 1 0 0 0 0 1 2 0
FEZSOKHT 1 1 1 1 0 0 0 0 1

RIERTET 10 6 4 4 0 1 1 4 4

AGEH 2 0 0 0 0 0 0 2 1

SRET 3 1 1 1 0 0 0 2 0

HEEYHET 0 0 0 0 0 0 0 0 2

EJ=¥N:) 2 2 2 2 0 0 0 0 0

N SRIET 0 0 0 0 0 0 0 0 0
KEF 1 1 0 0 0 1 0 0 0

HER 2 1 1 1 0 0 0 1 0

RARF 0 0 0 0 0 0 0 0 0

WTAY 0 0 0 0 0 0 0 0 0

BREEFT 1 0 0 0 0 0 0 1 0

REFTE 11 5 4 4 0 1 0 6 3
EaE 21 14 9 9 0 3 2 7 16

RE FEREH 4 4 2 2 0 2 0 0 0
=L ET 0 0 0 0 0 0 0 0 0
REFTE 25 18 11 11 0 5 2 7 16
BEt 273 179 102 98 4 59 18 94 79




